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® 100.48cm? @ 105.76cm? ® 116.28cm?
@125.6cm3 ® 150.76cm?

o] Zol)=12.56 + 3.14 + 2 = 2(cm)
159 F1])=2x2x3.14 X 10 = 125.6(cm?)
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D 4x4x3.14x5=251.2(cm?)
@ 6 x6x3.14 x 3 = 339.12( cm?)
® 6x6x6=216(cm?)

@ 3 2429 LolE [ |em 2t 51

[ Ix[ Jx6=294,[ ]x[ =49, ]=7(cm)
whatA Bulls 7x7x 7 = 343(cm?) QU

® ¥ o] Htz]E0] 31.4 =+ 3.14 + 2 = 5(cm)

o|BZ2 Hullk 5x5x3.14 x 3 =235.5(cm®) YUt}
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@ 942 cm? @ 1256 cm? (@)1884(3112
@ 2198 cm? ® 2512 cm?

B

(& 299 yol)= (WHx]F)x (F¥FA5)x3.14
(dHol)= (A5)x3.14x (&°l)

(B¥lol)= (& B Hol)x2+ (F4Hol)

(3t ¥ o] Hol)= 10 x 10 x 3.14 = 314( cm?)
(Fy¥lo])= 20 x 3.14 x 20 = 1256( cm?)
(BYlol)= 314 x 2 + 1256 = 1884( cm?)
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4. o5 Y7152 2EolE 1406.72cm® YU o] ¥7]52] F
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@ 6018.44cm? @ 5678.52cm? @ 5024cm?®
@4019.2cm3 ® 31l4cm?®
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8Xx8x3.14 X2+ 16 x 3.14 x| _| = 1406.72

401.92 +50.24 x| | = 1406.72

50.24 x| |=1004.8

|:| = 20(cm)

(P7159] H1]) =8x8x3.14x20
= 4019.2(cm®)




